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QUESTION 1

When a web service is referenced from a client application in Microsoft Visual Studio, which two items are created?
(Choose two.) 

A. a stub 

B. a proxy 

C. a.disco file 

D. a.wsdlfile 

Correct Answer: AD 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

Convening an object to a more general type is called upcasting. Select the correct answer if the underlined text does not
make the statement correct. Select "No change is needed\\'\\' if the underlined text makes the statement correct. 

A. No change is needed 

B. downcasting 

C. interfacing 

D. flexing 

Correct Answer: A 

 

QUESTION 3

Which language uses Data Definition Language (DDL) and Data Manipulation Language (DML)? 

A. Java 

B. C+ + 

C. SQL 

D. Pascal 

Correct Answer: C 

SQL uses DDL and DML. 

 

QUESTION 4
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This question requires that you evaluate the underlined text to determine if it is correct. 

A table whose attributes depend only on the primary key must be at least second normal form. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 

A. No change is needed 

B. first 

C. third 

D. fourth 

Correct Answer: A 

 

QUESTION 5

The purpose of the Finally section in an exception handler is to: 

A. Execute code regardless of whether an exception is thrown. 

B. Conclude the execution of the application. 

C. Execute code only when an exception is thrown. 

D. Break out of the error handler. 

Correct Answer: A 

By using a finally block, you can clean up any resources that are allocated in a try block, and you can run code even if
an exception occurs in the try block. Typically, the statements of a finally block run when control leaves a try statement.
The transfer of control can occur as a result of normal execution, of execution of a break, continue, goto, or return
statement, or of propagation of an exception out of the try statement. 
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